e —_— ] or | 7 B 5 Lt i
00 009 ‘6T 00 008 ‘6% Z BT E ‘7 m_@,mmmm“ sy 1 WE | 9282-0DAH Sy fgtn e BopEs B
8X LL 0
% 0071z ‘urm/x
B 000GT ‘TUG
Xel EEZ L H
: AT REHE g o
00 009 ‘T¢% 00 "009 ‘16% I BX [ WFMMQW%MM TE | ¥IC9T-XT WElmE AN 78 €
G8EIg ‘uru/I S
3 000ST “TWG '
XV B+ H
AT EHE g
< I *I§E 1
- _ o1 e op| EVEEBERR| i i
00 066 ‘CT% 00 066 ‘CTX I 271 YFE 1 Sl | R 00T-SWI DIANX-S) T4 i 4
) o . (27 2 -39 2 2
=R N & - s fgh o y EN1|
00 062 ‘L1 00 "G68 ‘Co% 4 B1 WFE g1 AT 0y GE | 929798-4a My fgrom e By By I
=
| g Y m g %_( Wl | & TR s wimy | B
é@m«ouoooe&/@w B €0 AN

%%HSSNQ P M
H M ik B 3 88 ) g o\ 1 e B Z L 1y guw&*%ﬁm_% S H i
WU M ¢

s

9O0EOIHZOIZIONZY * 5 M 1 i

m&mw«gﬁmﬁmwﬁ%m%




=7
00 "006 ‘61% 00 "006 ‘6T% ST WE T | HEBGWEN W | 8T | 00z2eXA-aSd WEET T 4P EE] el
T LW RIET
¥ € =7
00 "009 ‘Z1% 00 "00¢ ‘9% < HrHGYE 2 | BRI | T 0%2-794 WEET B4 WE gl
ST CNE T | FLUIREST
€ Sy EiE o | BHEN B8 , .
00 "009 ‘PT% 00 "009 ‘F1% E1 §F 1 X E N Y=H 018ZS HEYE BRTYEY IT
rd =7
00 "002Z ‘€9% 00 "008 ‘ST% b B L Y | M B G M N | 8T | 0L2dl-asd WS M E 01
‘ST CWE T | FLUADWmE ST
00 002 ‘G9% 00 "00€ ‘9T% 81 WE 1 M_WMWMW%MM WE | AOOSTI-€0H Wl e SYTHE 6
iz =R/
00 088 ‘6% 00 "096 ‘61% Ve HGYE | MY | T 0G62-014 R BT AL TY 8
S1CE 1| FL4IREHT
00 "006 ‘9% 00 "006 ‘9% 1 “I§F 1 xwmw\_wwwv@%w W] TVIIOIQ HY YiI i =a1ve L
00 "0%8 ‘TT% 00 "096 ‘z& Z T "WE 1 WWMMWWWM HEY | v20SI-dzH Fey %) Hd 9
UG-G *Q
3 In00¢-0¢
* INO00T-001
s no0TI-01 [=
00 "006 ‘€z% 00 "0S6 ‘1% . N0Z-¢ | 781 B-% B E | [Ech | sn1d yoaeesay ks G
T 10T-S°0 | (#T) ®B¥x
*INGZ-1°0 N
’ b A ot
82 B [ Ar el > /
900E0IHEOIZI00Z * 4 5 H i \X" % FHL R B o




THE WM TS VYR LYY ¢
"B b IOH I O BN VY 8 5 R B
WIHHD AL GRWHW T TR TR AL 5 S EINE6  70 16 9 281 Ni&%wﬁﬁ .ﬁ&%%&%%ﬁ&yﬁ\ﬁjﬁﬁﬁ *g

PG THREYEN BV WS GHE N8RS NS T

\ C(EFEESE) (INED YRYZR

BB 5

O ) UG

HE Y W7 RS
M i

1£00°000 29X (E\) “‘BUHWLTEHUNMY (5Y) Yersgag

X B &)

|
L1 [5730 B 52

00 "00% ‘6S1% 00 009 ‘6.% i S T L& AASSYH (LIED B | “HEY He g1

81 WE T Xy CLIE) WY
. I3 . ¢ = : “ Wu.ﬂﬂ\ Mm_ 4 L W s Al
00 008 ‘1% 00 "008 ‘1% T 871 WE 1 B8 [ 1 MOT-TUIp =L 5 W 1 14 = F [l

900EOIHE0TEI0IZI 5 8 H ifr Y2 (017 2 B F S 5 B R =y




